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Sl. No.1
QBID:1554921

Choose the correct form of verb to fill in the blank.

Knowledge 1s that we can not know.
(1) known

(2) without know

(3) knowing

(4) know

fFrafafad § S $H-a1 e e T8l 8 0
(1) &

(2) 9

3) &

(4) @

1[Option ID=6601]
2[Option ID=6602]
3[Option ID=6603]
4[Option ID=6604]

Sl. No.2
QBID:1554922

Choose the correct pair of prepositions, in the correct sequence. from among the
four options given, to fill m the blanks i the following sentence :

The book was lying the table and the papers were that.
(1) m; under

(2) besides; underneath

(3) above: over

(4) under: underneath

o=t # gt fope W § 2

(1) 9

(2) 11

(3) 12

(4) 13

1[Option ID=6645]
2[Option ID=6646]




3[Option ID=6647]
4[Option ID=6648]

Sl. No.3
QBID:1554923

Pick out the correctly spelt word.

(1) assiduous

(2) asiduous

(3) assidous

(4) assedious

AR (3) F e # - 9w emE ® 2
(1) 9% I=RU H W &1 Mawasdl gl & |
(2) TR H W@ ggd Al ¢ |

(3) TR $I T W H $1 0§ |

(4) FTER W & [d<l $ 30 H @ Jar & |

1[Option ID=6673]
2[Option ID=6674]
3[Option ID=6675]
4[Option ID=6676]

Sl. No.4
QBID:1554924

Identify the correct form of indirect speech of the following sentence.

The teacher said to Arjun, "Go away."

(1) The teacher requested Arjun to go away.

(2) Arjun asked the teacher if he could go away.
(3) The teacher ordered Arjun to go away.

(4) The teacher told Arjun that he can go away.

H 31 FyA faU T & U e (Assertion A) F wU H e € A g8 39S BRU
(Reason R) & ¥4 #:

AUFYT A ; AT I Tk 7 |

HRUT R ; I8 Rleg 93pd 7 ¥ Hdd gU 81 W 95d 3R 9! It &1 gal gl @ |

SRIE HYF & S d, - U M fased! H 9 999 Suged IR &1 994 S |
(1) A SRR & W61 € SR R, A =1 Wel arem g
(2) A SRR gFi 9 4fFT R, A 91 981 soren T 2

(3) ATSE ORI R O 8T &
(4) AT Sz R EE 2

1[Option ID=6677]




2[Option ID=6678]
3[Option ID=6679]
4[Option ID=6680]

Sl. No.5
QBID:1554925

Rearrange the followmg parts of a sentence labeled as PQRS to make a
meaningful sentence

P it clearly 1s no better than
Q having knowledge but
R never having any ideas at all

S lacking the power to express
(1) RPQS5
(2) QPRS
(3) QSPR
(4) SPRQ

= 21 B 2y 70 8 U =fUEUT (Assertion A) F ¥ ¥ &4 € O gH0 39 SRU
(Reason R) @ »4 #:

@Y A ;T Weg &1 SULN a5 & 100 el o], g aR & A9 & U B § |
&R R : 59 &9 R & 390l § 98 SR 99 6l 5 § |

ST $Y & @S |, A" G670 fdeed] # F Fgl ST &1 997 B |
(1) ASRREATUE IR R, A o1 98l @ &

(2) A ¥R R H TT & T R, A #1 981 e 6l &

(3) ANO 2GR o9 8

(4) AU eaFEIR IT 8

1[Option ID=6681]
2[Option ID=6682]
3[Option ID=6683]
4[Option ID=6684]

Sl. No.6
QBID:1554926

Pick out the antonym of 'vulnerable’
(1) Stoicism

(2) Immune

(3) Incompetent

(4) Capable




e & 9 o= wiftares 93 98 & -

A T

B.¥MH

C. 7
D. 72t
E. e

At fou 1 fawedl § € 981 I &1 994 Sifv:
(1) A.B3RC
(2) B.C3RD
(3) C.DRE
(4) B.C3RE

1[Option ID=6685]
2[Option ID=6686]
3[Option ID=6687]
4[Option ID=6688]

Sl. No.7
QBID:1554927

Pick out the meaning of the underlined idiom mn the following sentence.

Rina broke off i the middle of her story.

(1) left
(2) began anew

(3) stopped suddenly
(4) clarified

= 1 & |1y = 11 1 3 #ifon

o ! g !
A. SeTHREgs diAgma s I Al
B. HH TY B gl 11. fHamer
C. SHMT & el I11. T
D. TET SR FUI-ga HieH &34 are IV, LR

=4 feu 1 fawedl § € 981 I &1 994 Hifve:
(1) A-III, B-IV, C-1., D-II
(2) A-I, B-II, C-III. D-IV
(3) A-II. B-III. C-IV, D-I




(4) A-IV, B-1., C-II, D-III

1[Option ID=6689]
2[Option ID=6690]
3[Option ID=6691]
4[Option ID=6692]

Sl. No.8
QBID:1554928

Choose the correct passive voice form of the following sentence.

We ought to respect our teachers.

(1) Our teachers must be respected.
(2) Our teachers should be respected
(3) Our teachers ought to be respected.

(4) We need to respect our teachers

= €1 BuA fau g &
YA | ;3 GO Hera &1 0 o g gear W A g |
&Y [ 1 : Titee oo @ 58&1 3ugad o & "WH &1 ge gl |

IWRIad HYA & s H, A" 15U 70 Fhedi § 9 T8l I 1 999 B
(1) & 3R 1 SH 9 &

(2) T [ R I S 3Fd 3

(3) ®u [ 9 & Qfep B 1T 39 &

(4) & [ 39 T, Al U 11 T 7

1[Option ID=6693]
2[Option ID=6694]
3[Option ID=6695]
4[Option ID=6696]

Sl. No.9
QBID:1554929

Pick out the synonym of the following word.

envisage
(1) command

(2) condemn
(3) contemplate

(4) curious




Frofafed # @ o oy & waerdi § 2
A SiH
B. difg
C.avd

D. T

E. gl

e fau v el § 9 T8t IR &1 994 S
(1) HaA A, C 3R E
(2) HaaB.D AR E
(3) ¥ C,D SR E
(4) ST A, B 3R D

1[Option ID=6697]
2[Option ID=6698]
3[Option ID=6699]
4[Option ID=6700]

Sl. No.10
QBID:15549210

Choose the correct sentence.
(1) I found the food unedible.
(2) 1 found the food inedible.
(3) 1 found the food inaudible
(4) 1 found the food unedible

Fofafea # 9 sms ol &1 907 S |

A Tz IR i &1 R 9 ¢ |

B. 91 qfere &1 ST § |

C. o Fel | Al s g R g

D. & U9 &3 Uedl § 28 &% 3@ o7 |

E. 9391 & & UIel & a9 A &5 §gd el a9l |

i fag ¢ fawedl § 9 999 S9gsd I &1 997 SIg:
(1) %30 C.D. E
(2) 3@ A. B.D




(3) #a@ A.B.E
(4) #a@ B. C.D

1[Option ID=6605]
2[Option ID=6606]
3[Option ID=6607]
4[Option ID=6608]

Sl. No.11
QBID:15549211

'Commemorative Stamp' is printed in honour of specific person, while the
postage stamps for regular use are called :

(1) Post - Stamps

(2) Regular Stamps
(3) Definitive Stamps
(4) Postal Stamps

RS 5% eFe 4 fimiy =ofda & 99 # 210 99 &, e Haid 39 # o ad
1% & fewpcl Bl g o1 oA & -

(1) T=-fEFe @e-2m)

(2) Fafia o fewe ae-wm)
(3) =t o1& fewe (Eiftefafea wrm)
(4) =F/EEE Eee [dred 2

1[Option ID=6609]
2[Option ID=6610]
3[Option ID=6611]
4[Option ID=6612]

Sl. No.12
QBID:15549212

Identify the location of India's Astronomical Observatory.
(1) Itanagar

(2) Bangalore

(3) Sriharikota

(4) Ladakh

WReTg it demmen s a2

(1) SER

(2) &R

(3) dishsrer
(4) TETE

1[Option ID=6613]
2[Option ID=6614]
3[Option ID=6615]
4[Option ID=6616]

SI. No.13




QBID:15549213
Given below are two statements: one i1s labeled as Assertion-A and the other is
labeled as Reason-R

Assertion A : It 1s reported in The Hindu recently that custodial death (both police
and judicial) amounted to more than 11 thousand in the last few years.

Reason R : Police brutality in Indian jails has increased many times.

In light of the above statements. choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are but R 1s NOT the correct explanation of A

(3) A is true but B 1s false
(4) A is false but R 1s true

e &1 v fay Y 7 U P (Assertion A) F w9 H ff&d 8 O gE SUS SR
(Reason R) & 30 #:

HHFEYT A - T B H T g srmer ¥ s o fF e o ol | gfew ok =fas)
T Al e A aE A gs ¢ |

SR R : YR well § g &1 Hidl &8 T 98 15 6 |

SR HUA & AP §, g [§U 70 Aecd! H § 999 Iugad Sux &1 999 HIg |
(1) A 3RREHE ¥61§ #RR, A & 95 Orem &

(2) A 3R R Ml 981 § 9fEA R, A 31 951 sarem 181 &

(3) ATSZ AR O AR

(4) ATEl TRIBaFAR W 2

1[Option ID=6617]
2[Option ID=6618]
3[Option ID=6619]
4[Option ID=6620]

Sl. No.14
QBID:15549214

What is the largest organ of human body ?
(1) Bram
(2) Lung
(3) Skin
(4) Stomach
AHg-THR &1 T4 g1 A | ?
(1) #AfErs
(2) HES
ogdl




(3)
(4) T/ 3HEE

1[Option ID=6621]
2[Option ID=6622]
3[Option ID=6623]
4[Option ID=6624]

Sl. No.15
QBID:15549215

Identify the correct combination of elements in Permafrost.
A. Soil

B. 01l

C. Gravel

D. Sand

E: Jee

F. Snow

Choose the correct answer from the options given below :
a) C.D.B.F
2) A.B.D.E
3) A.C.D.E
4) A.B.E.F

QIJER-4H J Tl & Fol 99 P! UgaH BT |
A. Tal
B.dd
C. gordl
D. @],
E. %
F.f&d
1= fau e fa el © 9 Hel SR &1 997 SIfviE:
1) C.D.B.F
(2) AAB.D.E

3) A.C.D.E
4) A.B.E.F




1[Option ID=6625]
2[Option ID=6626]
3[Option ID=6627]
4[Option ID=6628]

Sl. No.16
QBID:15549216

A crossing had four paths leading to College. Hospital, School and Market. If Ram
has to reach Market from Hospital, he has to travel towards East and cross the
crossing. If College is in the North of the crossing. in which direction 1s School
from the crossing?

(1) North

(2) South

(3) East

(4) West

U GRIE | TR I Bl SEIAI, A AR TR B W0 | TG TH BRI G R
UEg1 B a1 99 9 @1 AR a1 9o 3R IRI81 R 1 S | 18 Sl 9RE ° 9
femAddipuare S feafemad 2

(1) 3=

(2) afEm

3) o

(4) uigm

1[Option ID=6629]
2[Option ID=6630]

3[Option ID=6631]
4[Option ID=6632]

Sl. No.17
QBID:15549217

A statement is followed by two courses of action. Assume everything in the
statement 1s true and on the basis of the mformation given i the statement
decide which of the course of action logically follows for pursumg

Statements :

The Helicopter service in U. S. 1s running mto losses since its launch 20 years

back.

Course of Action

Statements : (I) The helicopter service should be given financial assistance of $
300 million dollars to sustain itself.

Statements : (II) The helicopter services should hire a consultant who can advise
them measures which can be taken to reduce expenditure.

(1) Only (I) follows
(2)




Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows
oA s ag gl ha-y UM I i s A 9a $2 90 ¢ | goadod H &l 75
T & YR R g5 Ffa Fifn & oifés ¥0 9 $F w1 oy so=mn o =ifee 2
ooy

ST H BlepR-Sa1 20 99 Ra IR UREe S Ta S S ue § el © |

fvar-9y : (1) eefiemeR-9a &1 $ 300 fftm= s 1 &xita vergar 41 9 9ifey arfe 9
@Y ®I HUIE 96 |

(I1) TeieER-garef &1 TF WirRieral @1 981 4TS TR -1 9ifey @ 96 @4 9ar ar”l
Hehl & X H 901E ¢ 9@ |

(1) 5a () Fel & |

(2) Fad (1) ¥ ¢ |

(3) EHf (1) IR (1) T 2 |

(4) Fa () MRAF ) T 5 |

1[Option ID=6633]
2[Option ID=6634]
3[Option ID=6635]
4[Option ID=6636]

Sl. No.18
QBID:15549218

The following question has a statement & three conclusions. Check the
conclusion on the basis of the statement and choose the correct option :

Statement : A manager advised seven workers to resign due to low productivity
or they will be terminated tomorrow. Six workers resigned immediately.

Conclusion : (1) One worker will resign tomorrow.
(11) The manager will terminate him tomorrow.

(u1) The workers may not resign and shall also not be termumated.
(1) Only (1) follows

(2) Ounly (u) follows

(3) Only (1) follows

(4) Etither (1) or (u) follows




frafafad uy & te oYA 3R OF e R T § | Y9 & 3R 1R st
BT WRIEUT BT 3R F5! faded I+ -

DY ; U HaYD - DH IAGDdl D BRI Hd BRI DI 5101 o DI
g%%m‘oﬁ 31 36 DA Hargdd DR (401 ST | T8 BRI A dabldl S|
|

Ty : (i) U SR Fd S 1B1  |

(if) TEY® I Dl Yarad D & |

(iii) DTHIR SXIP] ol & Febdl SR - 8 Yarad a1 ST |
(1) Pad (i) AFL BT B

(2) Had (i) AELBIAT &

(3) Pad (iii) AL BIAT §
(@) TS () 1 (i) AL ST &

1[Option ID=6637]
2[Option ID=6638]
3[Option ID=6639]
4[Option ID=6640]

Sl. No.19
QBID:15549219

There are three intersecting circles I, S, P. Circle I stands for Class XII . S stands
tor Students and P stands for Poor. Different regions are represented by letters
from a to g.

\

Which region is represented by Class XII students who are not poor ?
(1) Onlya
(2) Ondd

(3) Bothaandd
(4) Only b




I.S. AR P dF W=l ga § | 1 P& 1201 & oL 8. s SHEI & g iR p e
& T | SIAT-SIET 8 Bl a | ¢ TP P 3HeR] U AT TG |

a’a

B

ST &7 T8 124 Ban S ol Bl exiar g o el g2 -
(1) $dd a

(2) Hadd

(3) 3 3R baHl

(4) Hadb

1[Option ID=6641]
2[Option ID=6642]
3[Option ID=6643]
4[Option ID=6644]

Sl. No.20
QBID:15549220

A Statement is followed by two courses of action. Assume that the mformation
etven in the statement is true. On the basis of the statement decide which course
action logically follows for perusing.

Statement :

The Chief Mimster has recerved a complaint regarding demand of bribe by a
senior officer for favormg an industry.

Course of action :

(1) The mvestigating agency should catch the officer red handed and take legal
course of action.

(1) The Chief Minister should wait for more complamts about the officer as this
might be one odd case.

(1) Only (1) follows

(2) Only (u) follows

(3) Neither (1) nor (1) follows
(4) Both (1) and (i) follow




T HE S YA G FREA S T T 1 aA & sy & § T G w § | FUH & R
R e 3 afes 30 ¥ ®F 9 SR ar el 8

w=YA

fodl S &1 va o9 & g aE ofie g vy 31 7 & ded H ue Rema g
&I U g5 |

CACICIEE
(i) wa goldt &1 Sfiert &1 -3 uss1 91fey SR S SRAE S 9I1Ry |

(if) TR B T F ai & R oifie Rird! BT SauR BT ARy FE T8
HIATETT VST 51 9l ¢ |

(1) &ad (i) aF e &

(2) & (i) TR B &

(3) T (i) 3R T (ii) T ST E

(4) (i) 3R (i) &1 aF e &

1[Option ID=6649]
2[Option ID=6650]
3[Option ID=6651]
4[Option ID=6652]

Sl. No.21
QBID:15549221

One tap can fill an empty cistern m 2 hours and another tap can empty the same
filled cistern in 3 hours. The time taken to fill the cistern if both the taps are
opened. is :

(1) 6 hours

(2) 7 hours

(3) 6.30 hours

(4) 8 hours

U 0 6 Al $75 &1 2 9e # WX ghal § 4R U 90 39 W gU oS &I 3 °9¢ § |l
Y GHal ¢ | afg SFf 70 gd gU el a F &1 WA § fba wmg @ 2

(1) 6

(2) 74

(3) 6.30 ®<

(4) 82

1[Option ID=6653]

2[Option ID=6654]

3[Option ID=6655]
4[Option ID=6656]

Sl. No.22
QBID:15549222




In how many different ways can the letters of the word THERAPY be arranged
so that the vowels never come together ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

¥eg THERAPY & &Rl &1 09 - adie! § daifoa o o 9&al &, oA =% 3R
w4 4 91y 7 31 g ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

1[Option ID=6657]
2[Option ID=6658]

3[Option ID=6659]
4[Option ID=6660]

Sl. No.23
QBID:15549223

In the four consecutive prime numbers that are i ascending order, the product
of first three 15 385 and that of last three 15 1001. The largest prume number 1s :
(1) 11

(2) 13

(3) 17

(4) 19

TR HHITE U0 SE HRIE &0 # § | 370 § Ugd &9 &1 A% 385 © &k 918 &1
= demaf 1 qUEEa 1001 7 | 599 999 95 ST S B A 8 2

(1) 11

(2) 13

(3) 17

(4) 19

1[Option ID=6661]
2[Option ID=6662]

3[Option ID=6663]
4[Option ID=6664]

Sl. No.24
QBID:15549224

If 1.5 = 0.04y. then the value of }Y—X 1s:
y+x

(1) 730/77

(2) 73/77

(3) 7.3/77

(4) 0.73/77




e 1.5x=0.04y 2H Y—X FAFFE?
y+x

(1) 730/77

(2) 73/77

(3) 7.3/77

(4) 0.73/77

1[Option ID=6665]

2[Option ID=6666]

3[Option ID=6667]
4[Option ID=6668]

Sl. No.25
QBID:15549225

The sum of the present ages of father and son is 90 years. 10 years earlier, the
ratio of their ages was 5:2. The present age of the father is :

(1) 65 years
(2) 68 years
(3) 60 years
(4) 70 years

i iR g3 ®1 aau= g &1 9M 90 a4 § | 10 o9 U, S9! g F &g F1 g 5:2
ul | R S ada s Em g 2

(1) 6599

(2) 68 ad

(3) 60 ad

(4) 70 =

1[Option ID=6669]
2[Option ID=6670]
3[Option ID=6671]
4[Option ID=6672]

Sl. No.26
QBID:1524851

8751 has bytes of on-chip ROM ?

1) K

(2) 4K

(3) 8K

(4) 16K

8751 § 3H-Fa9 39 S PITIG 2
(1) K

(2) 4K

(3) 8K

(4) 16K

1[Option ID=6301]




2[Option ID=6302]
3[Option ID=6303]
4[Option ID=6304]

Sl. No.27
QBID:1524852

The 8051 family has bytes of on-chip RAM ?
(1) 128

(2) 256

(3) 64

(4) 512

8051 9RaR & U SI5ed $1 -0 YA gl 8 2
(1) 128

(2) 256

(3) 64

(4) 512

1[Option ID=6345]

2[Option ID=6346]

3[Option ID=6347]
4[Option ID=6348]

Sl. No.28
QBID:1524853

8051 fanuly has pins for Input-Output ?
(1) 16

(2) 32

(3) 48

(4) 64

8051 9ER F ure fEw-FFm gg gt g 2

(1) 16
(2) 32
(3) 48
(4) 64
1[Option ID=6389]
2[Option ID=6390]

3[Option ID=6391]
4[Option ID=6392]

Sl. No.29
QBID:1524854

Which version of the 8051 does not have on-chip ROM ?
(1) 8051
(2) 8052
(3) 8031
(4) 8751

8051 &1 1 I H&HU i4-Fy I9 § 98 ym Wt § 2




(1) 8051
(2) 8052
(3) 8031
(4) 8751
1[Option ID=6433]
2[Option ID=6434]

3[Option ID=6435]
4[Option ID=6436]

Sl. No.30
QBID:1524855

In 8051 following pin 40 isused for  ~ ?
1) 7R
(2 RD
(3) £4
4 V,

CcC

8051 A Ppff@a fm4o=iwdm . SRmemg?
(1) WR
(2 RD
(3) £4
4) V

CcC

1[Option ID=6477]
2[Option ID=6478]
3[Option ID=6479]
4[Option ID=6480]

Sl. No.31
QBID:1524856

What does MESI stands for ?
(1) Modified Exclusive System Input

(2) Modifier Exclusive Shared Invalid
(3) Modified Exclusive State Invalid
(4) Modifier Exclusive State Invalid

UH § U9 3115 (MES) Fafafaa 8 9 feae ufas o2
(1) HOISIPBIgS Uada¥d ey giqe
(2) TP Tauafed 303 S7afars
(3) TISIPIES Tagaad e dis

(4) TISHTE TauaRg e SHaS

1[Option ID=6521]




2[Option ID=6522]
3[Option ID=6523]
4[Option ID=6524]

Sl. No.32
QBID:1524857

Following 1s the functionality of MMU ?
(1) Memory Sharing
(2) Memory Select

(3) Address Translation
(4) Address Generation

UH UH g (MMU) 1 Seiideal Haffad § 9 &6 9 2
(1) i WgHIeH (FERT =aie)

(2) Wi gg @ER dde)

(3) Udl SFAIg (THH e

(4) Tar didt (e SEE)

1[Option ID=6565]
2[Option ID=6566]
3[Option ID=6567]
4[Option ID=6568]

Sl. No.33
QBID:1524858

Coherency is a major challenge of ~  ?

(1) Disk

(2) Magnetic Tape

(3) RAM

(4) Cache

FH=adr faeferad # § fhadr yga Al g2
(1) BrF

(2) 3Afed &

3) &

(4) @A

1[Option ID=6593]
2[Option ID=6594]
3[Option ID=6595]
4[Option ID=6596]

Sl. No.34
QBID:1524859

MC6800 family have bits ?
(1) 32

(2) 16

3) 8




(4) 4

w b 6800 AR # fea faea gt & 2
(1) 32

(2) 16

3) 8

(4) 4

1[Option ID=6597]

2[Option ID=6598]

3[Option ID=6599]
4[Option ID=6600]

Sl. No.35
QBID:15248510

Which are the two modes of 80286 ?
(1) User mode and System mode

(2) Real mode and Protected mode
(3) Main mode and Alternate mode
(4) User mode and System mode & Real mode and Protected mode

80286 ¥ &1 Tsfa @re) FuffEa # & == @ 87

(1) v As iR ed |9

(2) grafas A5 SR SEE |9

(3) = HIE 3R dFfcas Ae

(4) Wi A1 SR 9wy dis ud aafas A1 SN SiE Ars

1[Option ID=6305]
2[Option ID=6306]
3[Option ID=6307]
4[Option ID=6308]

Sl. No.36
QBID:15248511

Size of address bus m 80286 1s ?
(1) 8

(2) 16

(3) 24

(4) 32

80286 ® U39 T4 F1 AMFR BIAE ?
(1) 8

(2) 16

(3) 24

(4) 32

1[Option ID=6309]

2[Option ID=6310]

3[Option ID=6311]
4[Option ID=6312]




Sl. No.37
QBID:15248512

Peripherals are the medium through which embedded system communicates with

?

(1) Input-Output Devices

(2) Memory

(3) QOutside World
(4) Disk

giifeat [Gitevem 9 AreH € foas g o =nfag & it & 9 e Jiuw s

&

(1) FEm-frm g
(2) #46r

(3) Il 9Td

(4) Tz
1[Option ID=6313]
2[Option ID=6314]

3[Option ID=6315]
4[Option ID=6316]

Sl. No.38
QBID:15248513

An 8086 processor has
(1) 128

(2) 64

(3) 32

(4) 16

U% 8086 WEET H
(1) 128

(2) 64

(3) 32

(4) 16

1[Option ID=6317]
2[Option ID=6318]

3[Option ID=6319]
4[Option ID=6320]

kb size of cache ?

Hel ®I F2 JAN B 5

Sl. No.39
QBID:15248514

CACTI was proposed by
(1) Tiwari

(2) Russel

(3) Jacome

(4) Wiltonand Jouppi

to compute the caches power consumption ?




& Ffed SIHT & NS og 91 € H & 5 (CACTI) &1 Fofafey & § fees wwafea
e 2

(1) fEard

(2) @a

(3) T®HH

(4) faecHrs i

1[Option ID=6321]

2[Option ID=6322]

3[Option ID=6323]
4[Option ID=6324]

Sl. No.40
QBID:15248515

Verilog 1s standardized as
(1) IEEE 1364

(2) IEEE 1286

(3) IEEE 802.1

(4) IEEE 1362

aitmi Fofafaa § 9 o9 =9 § aesisd 22
(1) IEEE 1364

(2) IEEE 1286

(3) IEEE 802.1

(4) IEEE 1362

1[Option ID=6325]
2[Option ID=6326]

3[Option ID=6327]
4[Option ID=6328]

Sl. No.41
QBID:15248516

A soft real type of embedded system
(1) Can complete the task within 1ts deadline
(2) Can not complete the task within its deadline

Both can complete the task within its deadline and can not complete the task

(3) e ;
within its deadline

Neither can complete the task within its deadline nor can not complete the task
within its deadline

AR o &1 qg drdids UeR ?
(1) o 9ag 9 F Hial $1¢ 99rd &1 9Fdl o
(2) HS! 9T 9 F TR F1 9HG Tol FT IH5dl &

aHl sga! gAg 91 F Wiae S 99 S T&dl § 3R 5961 9Ag 9 & Hiar e
TU ol FX gHdl o

(4) =41 soat gy G F o 10 9 S S6al & AN A1 8 guet 959G 9 & Hia s
THI el B2 el &

(4)

(3)




1[Option ID=6329]
2[Option ID=6330]
3[Option ID=6331]
4[Option ID=6332]

Sl. No.42
QBID:15248517

Which embedded system software converts each line of assembly line mto
machine code ?

(1) Assemblers
(2) Loaders

(3) Debuggers
(4) Compilers

el § § 21 9 sty 33 Siieam T0s Sieioe () ifed S 78 &1
¥ gfvafid & &7

(1) HISiais (FHE)
(2) HNE @87
(3) UYL (BN

(4) TFa+F (FEEOY

1[Option ID=6333]
2[Option ID=6334]
3[Option ID=6335]
4[Option ID=6336]

Sl. No.43
QBID:15248518

is used as an alternative to an Embedded Systems ?

(1) Emulator

(2) Sunulator
(3) IDE
4) ICE

frofafaas § § @9 91 sa-fia 43 e & w9 8§ 1o fem o 2 2
(1) S G

(2) geEN (e

(3) et

(4) s

1[Option ID=6337]
2[Option ID=6338]
3[Option ID=6339]
4[Option ID=6340]

Sl. No.44
QBID:15248519

Pin 14 to 8051 controller IC specifies ?
1) Ve




(2) RST
(3) TO

(4) A

8051 s s w fie 14 Fafafas § & fsd suiar 2 2
(1) Ve

(2) RST

(3) TO

(4) EA

1[Option ID=6341]
2[Option ID=6342]
3[Option ID=6343]
4[Option ID=6344]

Sl. No.45
QBID:15248520

UART stands for ?
(1) Umique Asynchronous Recerver Transmutter

(2) Universal Asynchronous Receiver Transmitter
(3) Umversal Address Recerver Transmutter

(4) Umque Address Recerver Transmutter

g U R & (UART) Fefeied # @ feas wdis 37

(1) gH& thpg e e

(2) gHaEa uimEY fefar gafie

(3) ghaffa vgw e gRffe

(4) e T Refiay ghafier

1[Option ID=6349]

2[Option ID=6350]

3[Option ID=6351]
4[Option ID=6352]

Sl. No.46
QBID:15248521

8051 has a total of bytes of memory space for both program code and
data.

(1) 16K
(2) 32K
(3) 64K
(4) 128K
8051 # o\ @i SR s1e1 S % R $a Wi == @9 w9) g 2
(1) 16K
(2) 32K
(3) 64K




(4) 128K

1[Option ID=6353]
2[Option ID=6354]
3[Option ID=6355]
4[Option ID=6356]

Sl. No.47
QBID:15248522

Which of the memory needs an external multiplexer ?

(1) EPROM

(2) RFAM

(3) SRAM

(4) NVRAM

faffEa # 9 s @ 79 S 95 sgdeae (@ KER) S AEwEdl ol 87

(1) =9

(2) =

(3) T

(4) THE ™A
1[Option ID=6357]
2[Option ID=6358]

3[Option ID=6359]
4[Option ID=6360]

Sl. No.48
QBID:15248523

Which of the following is volatile ?
(1) SRAM

(2) ROM

(3) DRAM

(4) NVRAM

Ffafes § € =9 @ srurd @reesa) 398 2 2
(1) T§

(2) I

(3) SIw

(4) =E™

1[Option ID=6361]

2[Option ID=6362]

3[Option ID=6363]
4[Option ID=6364]

Sl. No.49
QBID:15248524

The address system supported by ARM processors is i
(1) Little Endian
(2) Big Endian




(3) Bi

(4) X-little Endian

U 3R U WERR R Saciad (@ead) 1oF Rea s are ?
(1) fefeT ufsgA

(2) farr afsTA

(3) =%

(4) u-Tforem afiggq

1[Option ID=6365]
2[Option ID=6366]
3[Option ID=6367]
4[Option ID=6368]

SI. No.50
QBID:15248525

In a microcontroller, execution speed of a given program depends upon ?
(1) On-chip / off-chip program memory

(2) Number of address lines

(3) Size of the program counter

(4) Clock frequency

UF HIsHIEEE A, 6 T oW # Frees g Fetfen S e m iR e @
(1) Hi=-TEuyaie =g wom 56

(2) USH TgA & gE=m

(3) UM BEE BT HBR

(4) PG (FS) g

1[Option ID=6369]
2[Option ID=6370]
3[Option ID=6371]
4[Option ID=6372]

Sl. No.51
QBID:15248526

address lines are required to address 2K X 8-bit memory ?
(1) 11
(2) 14
(3) 10
(4) 16
2K X 8-fae 7l g & fomg fait ugw ons &1 siawgedl gl @ 2
(1) 11
(2) 14
(3) 10
(4) 16

1[Option ID=6373]




2[Option ID=6374]
3[Option ID=6375]
4[Option ID=6376]

Sl. No.52
QBID:15248527

The program counter ?

(1) Stores the address of the mstruction that is currently being executed
(2) Stores the next instruction to be executed

(3) Stores the address of the next nstruction to be executed

(4) Stores the mstruction that is bemg currently executed

W HTdeT ?

(1) A O v En F Su s dRasar g

(2) Feafed 8 ard o e i SiEa #var §

(3) TFreafed 5F a1 o fFim & 1o & dfa sxa &

(4) TaAE A Freiea g 3 Few @1 Wia s g

1[Option ID=6377]
2[Option ID=6378]
3[Option ID=6379]
4[Option ID=6380]

Sl. No.53
QBID:15248528

Look-up tables are commonly used in ?

(1) Data conversions
(2) Complex trigonometric evaluations

(3) Complex exponential evaluations

(4) All of the above

SRS (QF-3) IRE! aga: Faffiaa & vgea ol o7
(1) srer wuide |

(2) =Y Femialy geaieT §

(3) Ty TEEiEy qediey |

(4) IodreEd gl

1[Option ID=6381]
2[Option ID=6382]
3[Option ID=6383]
4[Option ID=6384]

Sl. No.54
QBID:15248529

In 8051, an external mterrupt 0 has vector address and mterrupt is
asgerted if ?

(1) 000BH. a high-to-low transition on pin INT1
(2) 001BH. a low-to-high transition on pin INT1




(3) 0003H. a high-to-low transition on pin INTO
(4) 0023H, a low-to-high transition on pin INT1

8051 ® U® STEl HERIY () BT §eE uad 2 3T smiry gafag fear o & of

(1) 000BH. {99 INT1 W 3= ¥ 45 Hwam
(2) 001BH, U9 INT1 = Fg ¥ 3= a0
(3) 0003H, 9 INTO W 3= 9 47 ¥%A0
(4) 0023H, U9 INT1 W & 9§ 3= A0

1[Option ID=6385]
2[Option ID=6386]
3[Option ID=6387]
4[Option ID=6388]

Sl. No.55
QBID:15248530

The ARM architecture uses ?

(1) Memory-mapped I/O approach

(2) Non-memory I/O approach

(3) No I/O present

(4) None of these

U R UH afdiaar # Fofafag 7 3 e wom sxar 7
(1) FFH-7 M5/ U™

(2) FH-AS 1/ SUFH

(3) FIg 3M5/30 IURRE &l

(4) 99 | =I5 78

1[Option ID=6393]
2[Option ID=6394]
3[Option ID=6395]
4[Option ID=6396]

Sl. No.56
QBID:15248531

USB stand for ?
(1) Unsynchronous Serial Bus

(2) Ultra-Secure Bus

(3) Umiversal Serial Bus

(4) Unmterrupted Synchronous Bus

g ug &t (USB) FHuferfaa § © feus ufas &
(1) ARy divoa 59

(2) 32l R 99

(3) gHEwa difaa a9




(4) =i Eemg a9

1[Option ID=6397]
2[Option ID=6398]
3[Option ID=6399]
4[Option ID=6400]

Sl. No.57
QBID:15248532

In FireWire bus. devices are organized m a i
(1) Daisy cham manner

(2) Fan configuration

(3) Random connection

(4) None of these

B TR 99 §, giead] it sud o st e 2
(1) o =9 FR

(2) A FHHEREA

(3) T=A FAEH

(4) 39 A= 8

1[Option ID=6401]
2[Option ID=6402]
3[Option ID=6403]
4[Option ID=6404]

Sl. No.58
QBID:15248533

SCSI stands for 7
(1) Small Computer Serial Interface

(2) Small Computer System Interface
(3) Secure Computer Serial Interface

(4) Secure Computer System Interface

o 0 o o (SCSI) Frafufas & 3 fwe ofves @
(1) =g Fge Hiad 5ead

(2) WIT Huee G sehd

(3) Frar o fafiaa st

(4) TR S fEd a3k

1[Option ID=6405]
2[Option ID=6406]
3[Option ID=6407]
4[Option ID=6408]

Sl. No.59
QBID:15248534

The version uses a subset of the ARM instructions. which are encoded
to fit into a 16-bit format?




(1) Micro

(2) Macro

(3) Thumb

(4) Flesh

fafafEa # 9 S W 95A0 U R Sl & us Su-aey &1 W &l & o 16-fae
e & e S & R sfed g9 &
(1) HEH

(2) #@i

(3) U=

(4) =

1[Option ID=6409]

2[Option ID=6410]

3[Option ID=6411]
4[Option ID=6412]

Sl. No.60
QBID:15248535

For an Embedded system, which is not a part of design issue?

(1) I/O capability

(2) Power consumption

(3) External memory

(4) On-chip Memory

UF A 93 & o FaftfEa 7 @ o0 9 ofiea-smsn &1 3f T8 g 2
(1) 3/ Hufaier (Faw/ M e

(2) FHoll IUHFT (TR ST

(3) o Y (G- AHR)

(4) 3fi7-fm #ER

1[Option ID=6413]
2[Option ID=6414]
3[Option ID=6415]
4[Option ID=6416]

Sl. No.61
QBID:15248536

Single-instruction multiple-data (SIMD) mstructions are also known as ?
(1) Scalar mstruction

(2) Vector mstruction

(3) Source instruction

(4) Vertical mstruction

719 - e Aiua-S1eT (U9 o5 uh B Heut & ufatEa am S ot o o &
(1) wher Hem
(2) daex e




(3) I (s FEm
(4) Tisa

1[Option ID=6417]
2[Option ID=6418]
3[Option ID=6419]
4[Option ID=6420]

Sl. No.62
QBID:15248537

A mode in which the processor can execute all mstructions and perform all
available functions?

(1) User Mode

(2) Non-admin mode
(3) Supervisor mode
(4) None of these

T8 Ui, ford wreeR g4l féan &1 e ud 94l Suas Uerl &1 fharags # Fal
& 98 $eandl &

(1) vawE g

(2) AF-TsHAE U=
(3) TasT gEhd

(4) TFH A S5 8
1[Option ID=6421]
2[Option ID=6422]

3[Option ID=6423]
4[Option ID=6424]

Sl. No.63
QBID:15248538

In an idle mode ?
(1) Program execution 1s continuous

(2) Oscillator is stopped

(3) Contents of mternal RAM is preserved
(4) Timers are stopped

foeil Ffspa (idle) vsid # 2

(1) wigm FeT o 8 8

(2) as T g o &

(3) Mt A &1 faug-awqy ufwfea st 8
(4) a GHos I faf o1 &

1[Option ID=6425]
2[Option ID=6426]
3[Option ID=6427]
4[Option ID=6428]

Sl. No.64
QBID:15248539




In the ARM Nomenclature ARMxTDMI. D and M stand for?

(1) Debug and Fast Multiplier units are present

(2) Division and Multiplier units are present

(3) Debugger and Multiplier units are not present

(4) Division and Multiplier units are not present

U 3R UF 9 g&fd § (ARMxTDMI) # 21 (D) &R ua (M) F1 3= &2
(1) fE&7 3R BRE AR SH15al SUd 5l &

(2) ffam iR AwiIemR s@Ral Suryd &l 3

(3) feoR ok Aeeiamar gergdl Sufud 8l 81l &

(4) fEdie SR AR SPIRdl SURYT T8 il 8

1[Option ID=6429]
2[Option ID=6430]
3[Option ID=6431]
4[Option ID=6432]

Sl. No.65
QBID:15248540

When the number of stages in a pipeline increases from 3 to 5. then the
(1) Throughput reduces

(2) Latency reduces

(3) Throughput and latency increases

(4) Throughput increases and latency reduces

oS UF UgyasT | Wi B 9o 3 9 5 @1 9fS el 2 o PufifEa § @ e g 2
(1) ¥aTg &HaT & S

(2) g H H4

(3) WOTE &HdT U0 W H i

(4) WaTe &Fal ® gig 3R W & ST

1[Option ID=6437]
2[Option ID=6438]
3[Option ID=6439]
4[Option ID=6440]

Sl. No.66
QBID:15248541

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : The 8051 1s an 8-bit processor. meaning that the CPU can work on
only 8 bits of data at a time.

Reason R : Data larger than 8-bits has to be broken into 8-bit pieces to be
processed by the CPU.

In the light of the above statements. choose the most appropriate answer from the
options given below:




(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.

#1421 FvA & U € 0 S (Assertion A) F w9 H fifEd € a1 gE0 99 &R
(Reason R) & ¥U &;

HHHYT A : 8051 UF 8-fae W ©. o amem § 1% Hidig ues wvg & 7 8 fae sm@
T HT &Y 95l ¢

&R R : 9i9ig g1 8-ae ¥ 93 121 & U9d & & e 8-[92 & gosl # sl &
fafora & ez ore g1

SWRIE HYA & S H, A fGu T ecd § 9 999 Iugad IR &1 994 B

(1) ARREF Tl g AR R, A 1 9e1 e &

(2) A 3R R M T8 2 afFT R, A &1 wEl arem 8 8
(3) A 9E2dfea R wdl 781 2

(4) AT TElE eI R 98l ¢

1[Option ID=6441]
2[Option ID=6442]
3[Option ID=6443]
4[Option ID=6444]

Sl. No.67
QBID:15248542

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : AT89C51 is used in place of 8751.

Reason R : Flash memory can be erased m seconds and used for fast
development.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.

(4) A is not correct but R is correct.

i 21 By f2d L € U U (Assertion A) F FU H faf@d € a1 gE0 SHE SR
(Reason R) & ¥U &;

HYFYT A : AT8OCS1 &1 UGH 8751 & =4 W f&ar o &1

HRU R : W G6R1 & I$H0s! § Fem &1 9Fd1 ¢ R 5961 g g 619 oy &
AT 2

IR FYA & @S H, A 30 10 f[gEel § 9 999 9ugead IR B 909 BT

(1) A 3RR SF 981 § iR R, A F1 951 o0& &

(2) A SRR M T2 dfFT R, A &1 Ot arem AT &
(3) A T8l 2 dfea R a8l 781 2

(4) A 9% 81§ dfea R W81 ¢




1[Option ID=6445]
2[Option ID=6446]
3[Option ID=6447]
4[Option ID=6448]

Sl. No.68
QBID:15248543

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : In Von Neuman architecture there is single bus that connects
memory to the processor.

Reason R : In Harvard Architecture there are two buses that connects memories
to the processor.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 not correct.
(4) A is not correct but R 15 correct.

= &1 B 133 U § U SfHsU (Assertion A) & w4 H fifE€d € a1 guv 396 SR
(Reason R) & ¥U &;

HHHYA A : dA-gHF afdcaeR # UF &9 eldl & ol HARI &I MG 9 oisdl ol

HRU R ; 1HE Mfecaey | &f &4 gidl & 9l AART &1 UEE § wisdl 8

SR BU & AP H, g (&Y T fGdea] H 4 969 Iugad Iux &1 99 HIoE:

(1) ARREF Tl g AR R, A 1 9e1 e &

(2) A 3R R M T8 2 afFT R, A &1 wEl arem 8 8
(3) A 9E2dfea R wdl 781 2

(4) AT TElE eI R 98l ¢

1[Option ID=6449]
2[Option ID=6450]
3[Option ID=6451]
4[Option ID=6452]

Sl. No.69
QBID:15248544

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Air Traffic control is a hard real tune system.

Reason R : A hard real time systems have a strict time limit or deadlines.
Inability to complete a task within a deadline is said to be system failure.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R 15 correct.




2 31 v 2 o € v ey (Assertion A) F w9 H fifEd € & gEv 99% &R
(Reason R) & &1 H;

HHFYA A : T T FRE 0F wied aRdlde 9Ad OF (Nad ergd RRed) 7

HNU R : U Wied aRaids 9Ag-a4 § $a R (Tg) F90-9H sl 51 e gwo-dm 7
BT B Uf B B AT 07 B [ABAd] Bramd &l

SURIE HYF & A7 d, A U T Teed § 9 999 Iugad TR &1 994 B

(1) A R R SHf 98t & 3K R, A &1 98! o0 &
(2) ANRREFI T8I 2 3 R A T 98 o 78 &

(3) AGSiEfEa R O T8 &
(4) AT S e R EE 2

1[Option ID=6453]
2[Option ID=6454]
3[Option ID=6455]
4[Option ID=6456]

SI. No.70
QBID:15248545

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Operations mvolving registers are fast to execute.

Reason R : ARM is CISC processor.

In the light of the above statements, choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 not correct.
(4) A is not correct but R 15 correct.

#1431 FYF 88 T § @ AHFUT (Assertion A) & w9 # fifEd § df g9 59 SR
(Reason R) & ¥4 #;

HfFEYT A : T @iy ® mfta dhean e | o9 s B

FRUR : T 3R T (ARM) T& 9 15 08 i (CISC) TR 21

SWIad &Y & IS H, -9 6T Y Adhed! # o 963 39gad o &1 94 S

(1) ARREF Tl g AR R, A 1 9e1 e &

(2) A 3R R M T8 2 afFT R, A &1 wEl arem 8 8
(3) A 9E2dfea R wdl 781 2

(4) AT TElE eI R 98l ¢

1[Option ID=6457]
2[Option ID=6458]
3[Option ID=6459]
4[Option ID=6460]

Sl. No.71
QBID:15248546




Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : SDA and SCL are signals of I2C.

Reason R : UART is a parallel interface.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.

(2) Both A and R are correct but R 1s NOT the correct explanation of A.
(3) A s correct but R is not correct.

(4) A is not correct but R is correct.

H 31 FyA & 0 € U e (Assertion A) F w9 H ffEd € a1 g8 39 BRU
(Reason R) & &0 #;

fiHUT A : T €1 7 (SDA) SR o 9t 7@ (SCL), 318 2 & (12C) % g% 2|

FRU R : U 3R & (UART) & SHHIR 56309 Bil 2

SRIE HYA F 3w H, A U 7 Tecd # 9 998 Iuged TR &1 994 i

(1) A 3R R EH T8 ¢ SRR, A &1 T8l e &

(2) A 3R R M T8 % dfFT R, A &1 udt arem 7t &
(3) AT Eafe R a9 7212

(4) AT TR afFT R w1 2

1[Option ID=6461]
2[Option ID=6462]
3[Option ID=6463]
4[Option ID=6464]

Sl. No.72
QBID:15248547

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : State machines are generally used for reactive systems.

Reason R : Circular buffers and queues are used for digital signal processing
systems.

In the light of the above statements. choose the most appropriate answer from

the options given below:
(1) Both A and R are correct and R ig the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 not correct.
(4) A is not correct but R is correct.

4 g1 FvA & U § 0 S (Assertion A) & w9 H fifEd € a1 gEN 99 &R
(Reason R) & ®0 &

BT A ; e T=0F F1 WEr SR Mafsares d9a & g foan o1 3

®RU R : 30T a6 U4 dfeaat &1 wan fefvea foa dafE 93 & R i o g
SR HYA & @S H, A G 1 e # 9 999 Suged IR &1 994 i

(1) A 3R R SHf ¥l ¥ 3K R. A &1 9&! = &




(2) ASRREH T8 T AfFTR. A &1 98 aurem T8 &

(3) ATSIEds T R o8l & &
(4) AT TSI EAfea R a2

1[Option ID=6465]
2[Option ID=6466]
3[Option ID=6467]
4[Option ID=6468]

Sl. No.73
QBID:15248548

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : The goal 1s to develop loosely coupled highly cohesive modules.
Reason R : Coupling is a heuristic that provides an estimate of how
mterdependent the modules are.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 18 the correct explanation of A.

(2) Both A and R are correct but R i1s NOT the correct explanation of A.
(3) A is correct but R is not correct.

(4) A is not correct but R is correct.

H 31 FyA & 0 € U e (Assertion A) F w9 H ffEd € a1 g8 39 BRU
(Reason R) & &0 #;

ey A ; ifte gfta o= d99e Arega &1 [GeRa S a6 7

FRU R : TFA WHE 5101 & o 98 AJAM Jad Sl & [ JIeyed SO &4 & ol
SRIE HYA F AW H, A U 7 Gecdl # 9 998 Iuged IR &1 994 i

(1) A 3R R EH T8 ¢ SRR, A &1 T8l e &

(2) A 3R R M T8 % dfFT R, A &1 udt arem 7t
(3) AT Eafe R a9 7212

(4) AT TR afFT R w1 2

1[Option ID=6469]
2[Option ID=6470]
3[Option ID=6471]
4[Option ID=6472]

Sl. No.74
QBID:15248549

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : The microcontrollers are widely used in the embedded systems.
Reason R : The microcontroller contain On-chip memory. processing unit, I/O
unit and system bus in a chip.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R ig the correct explanation of A.




(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

i 21 BYA 138 U § TP SATHSUT (Assertion A) F T4 H [Al&d € 1 gHU WS IR
(Reason R) & &9 #;

HiEya A ; AaRifta oF § Geafaas] ([@Edidey) 1 a96 aR 9 SaN 691 o gl
®RU R : 957 o 8 uehug # of5-fg 8908, 9hE gers, ons/s ses R fea 59
e g &

SWRIEd HYA F ATle H, A U T ecdl H 9 99y Sugad TR &1 994 B

(1) ARREF Tl g AR R, A 1 9e1 e &

(2) A 3R R M T8 2 afFT R, A &1 wEl arem 8 8
(3) A 9E2dfea R wdl 781 2

(4) AT TElE eI R 98l ¢

1[Option ID=6473]
2[Option ID=6474]
3[Option ID=6475]
4[Option ID=6476]

Sl. No.75
QBID:15248550

Given below are two statements : One is labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : Real-Tume Application Interface (RTAI) 1s example of dual-kernal
real-time extension of Linux based on Adeos.

Reason R : In Real-Time Application Intertace (RTAI). the Adeos layer 1s used to
provide the dispatching of system events to two different domains: the RTAI
scheduler, and the Linux kernel.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.

H €1 By {38 U § u SHfisuT (Assertion A) % U H fafE€d € a1 g0 396 SR
(Reason R) & ¥U &;

iy A - fou-esh TeiieEE sevhd (RTAI), TfEa W siiia asaed & §-s-d
aRATaE THY R $1 3T 2

SR R : {100 215H Uwiie sevbd (RTAI) H ufsar s &1 wdi & fafis sHe:
HRETEHT SR R T e & oL, Ten = F T dl gAY A s &
fo frm S 2

IWRIE FYA & @S 1, A 30 70 fgee] § 9 999 9ugead IR B 909 BT

(1) A 3R R SHf ¥ ¥ 3K R, A &1 9&! o &
(2) A 3R R SH9d1 ¢ afsd R, A &1 981 ogrem 98 &




(3) Avdigaf R w2
(4) AT S EdfF RO 2

1[Option ID=6481]
2[Option ID=6482]
3[Option ID=6483]
4[Option ID=6484]

Sl. No.76
QBID:15248551

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Any operating system must face a number of challenges around
protecting kernel and scheduler data that may be accessed by both threads and
mterrputs.

Reason R : This may come from different threads in the kernel performing
operations. of it may be through API calls by user threads.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R ig the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 not correct.
(4) A is not correct but R is correct.

4 g1 FvA & U § 0 S (Assertion A) & w9 H fifEd € a1 gEN 99 &R

(Reason R) & ®0 &

HHHYA A - 50 sTfen Red &1 &-ia od Risger s & ke & fog fafis it

&1 AT S 911, o Gaf (3) ud e S g sifip g1 9ed B

&R R : T fafd @ @) en1 &0 e d@iearet 7 o 9l &, a1 wHied 1 gR1 U
4t 3g Hied G & 9l ol

SUilad FYF & i A, A [3U 70 el A 9 999 Iuged 9 #1994 S

(1) A SRR I ¥l § SRR, A 1 951 1 &

(2) A 3RR S T8 E dfFT R, A &1 et arem 7 &
(3) AT Eafe R g 781 2

(4) A SE 81§ dfe R 981 ¢

1[Option ID=6485]
2[Option ID=6486]
3[Option ID=6487]
4[Option ID=6488]

Sl. No.77
QBID:15248552




Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : JTAG debug emulator 1s very useful to the embedded system
developer.

Reason R : Hardware m circwit 1s a concept whereby debug and trace tools have
hardware probes in circuit with a CPU by mterfacing to signals coming from the
CPU/SoC ASIC to the rest of the system board for the purpose of snoop tracing
and/or control.

In the light of the above statements, choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 not correct.
(4) A is not correct but R 15 correct.

#1421 FvA & U € 0 S (Assertion A) F w9 H fifEd € a1 gE0 99 &R
(Reason R) & ¥U &;

YT A : 9 & TH (JTAG) SNN® daeRs (587 sHucy) Ja-wfid a7 feras
£q Sgd SUdnh §iaT § |

BT R : §TS00R 5-Tlee Uh Sbedl & o/ oU oiiv &R / a1 Faan & 35w & fim

=] fer 918 % CPU/Soc @ 1. g/ua. 3 ¥) ASIC (€ U9, 318, ) & o1 B Tl
& o Sexth e g Enfig aret uftoy & greda Wie & S9S U &1 SIYATe Ud ual Sl
EIGIA

SR HYA & A d, A fGu T e § 9 999 Iugad IR &1 994 B

(1) ARREF Tl g AR R, A 1 9e1 e &

(2) A 3R R M T8 2 afFT R, A &1 wEl arem 8 8
(3) A 9E2dfea R wdl 781 2

(4) AT TElE eI R 98l ¢

1[Option ID=6489]
2[Option ID=6490]
3[Option ID=6491]
4[Option ID=6492]

Sl. No.78
QBID:15248553

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Asgertion A : I/O mnterrupts are one example of an exception.

Reason R : The term exception is often used to refer to any event that causes an
mterruption.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R 15 correct.




2 31 v 2 o € v ey (Assertion A) F w9 H fifEd € & gEv 99% &R
(Reason R) & &0 H;

Ay A ;- Faw / Fri ong / of) sy omarg #1 UF Sav ¢

HRU R : 30aTe Weg WIG: 3H 91 &1 Haifd s & o v o 8 & eedy Som
GG

ST HYF & S H, A9 39U 1 fgwedl H 9 999 Iuged 9T $1 994 i

(1) A R R SHf 98t & 3K R, A &1 98! o0 &
(2) ANRREFI T8I 2 3 R A T 98 o 78 &

(3) AT EOA RIS A8 2
(4) AT S e R EE 2

1[Option ID=6493]
2[Option ID=6494]
3[Option ID=6495]
4[Option ID=6496]

Sl. No.79
QBID:15248554

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Pseudo mstructions are used by the programmer for the ARM
based system.

Reason R : A pseudo mstruction 1s an assembly-language mstruction that
performs some desired operation but does not correspond directly to an actual
machine mstruction.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R 1s NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

a=r & Fua & or & ve wf¥eua (Assertion A) F FT H
fofea € ot ggu 35 arur (Reason R) & w7 #;

FPua A : T 3R mH 3muiE wes & om g o (ge)
e &1 suTer Ry &

#roT R : m o By (g seRE), T Fuaer-amr @y § oSt
T gitea Gimart Boafeg war § feeg foelt areafas ahe &der
¥ UcOaTd: O dd @oaT gl

IURh HUT & AEd A, A= [GU 70 fadmeul # § Fa¥ 30gF T/

HT T HITAT:
MW Ak Raat wdr & it R A &1 @ eorear &




2 AR Raatadr g ot R, A & gér corear a8t &
AT iafras Rofradr &
@ A a&r 7 £ ofra R &8 &

1[Option ID=6497]
2[Option ID=6498]
3[Option ID=6499]
4[Option ID=6500]

Sl. No.80
QBID:15248555

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : A process 1s a dynamic concept and captures the notion of program
execution. It is the activity carried out by a processor when it is executing a
certain program and, therefore. requires some state information. besides the
program code itself, to be characterized correctly.

Reason R : A program 1s a static entity. It basically describes an algorithm. m a
formal way, by means of a programming language.

In the light of the above statements. choose the most approprate answer from
the options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R 15 correct.

= &1 B 183 U § U SifisuT (Assertion A) & w0 H faf@d € a1 gav 396 SR
(Reason R) & ¥U &;

HHHYFT A : Uihd UF o dden & HiR I8 UaW fHarags & 4R &1 IR Sl o
g {54l (fid 18 & Foes 3 9/ 06 IR g1 71 fafy =ifea &1 o 8, ofd: w8
@71 ¥ faEnfied 8 5q W &1 & sifalven, oo ufts g3 &t smewgsar gl 31

HRU R ; 99 & Rufae a1 ffe® 5<ie) § | 3% Jua: TONyH &1 Siueie o 9
VIENTERT TH & W1eFT G U Sl ¢

SO HYF & Al H, [ 2T T gt # 9 99d 9uges I &1 99 S

(1) A 3R R EH T8 ¢ SRR, A &1 T8l e &

(2) A 3R R M T8 % dfFT R, A &1 udt arem 7t
(3) AT Eafe R a9 7212

(4) AT TR afFT R w1 2

1[Option ID=6501]
2[Option ID=6502]
3[Option ID=6503]
4[Option ID=6504]

Sl. No.81
QBID:15248556




Given below are two statements :

Statement - I : 8085 microcontrollers have an extra 128 bytes of RAM.
Statements - II : 8052 mucrocontrollers have two extra tumers.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - IT are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - IT 1s incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

H2 31wy fad Mg §

FYA [ : 8085 &0 a1 (Aswiderom) H 128 ¥15e &1 afafad ™ el &l

& 11 : 8052 G5AFTAS! @Edihemd) § & Hfaied &1 9du® & 5|

SR HYF & S H, - G U Ted § 9 999 Iugad IR &1 994 S

(1) T 3R 11 21 981 &
(2) Y AR eHf Tod &
(3) FYH 1 TEl B, Afea Y= 11 o
(4) Ty [ Tad &, dfed = [ 981 &

1[Option ID=6505]
2[Option ID=6506]
3[Option ID=6507]
4[Option ID=6508]

Sl. No.82
QBID:15248557

Given below are two statements :

Statement - I : RS232 cable 1s also known as DB25 connector.
Statements - IT : Pin 20 of DB25 connector 1s used for DgR .

In the light of the above statements, choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I 1s correct but Statement - II 1s mcorrect.

(4) Statement - I 1s mcorrect but Statement - II 1s correct.

-t g ®yF 6 g %’:

FYF ] : RS232 80 &1 DB25 ®del & ®0 § M A1 o & |

FYA 11 : DB25 F-act @1 99 20 %1 W g & 1o & & 2

Iiad HY & HTE 8, 9 30 T GFd! § ¥ 99 Suded 9ol 1 994 S

(1) Fu= I R 11 et 981 &
(2) Y1 3R 1 241 7Tord &
(3) Sy el e Su [ Toa &
(4) &Y= [ 70 &, Qi du 11 981 &

1[Option ID=6509]
2[Option ID=6510]




3[Option ID=6511]
4[Option ID=6512]

Sl. No.83
QBID:15248558

Given below are two statements :

Statement - I : Verilog 18 hardware deseriptor language.

Statements - IT : A module in Verilog is a collection of sequential circuits.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I is correct but Statement - IT is mcorrect.

(4) Statement - I is incorrect but Statement - II 15 correct.

e s A m e

FYF | ; Fa sTeaaR faauie yme 2

&Y [1 : 3@ # U Alegy Hmiae IRy $1 995 &

TG BYF & oaE | 41 feu 7w ea! § ¥ 999 Suged SR &1 994 i

(1) ®u [ 3R 11 2f 981 &
(2) FYH[ AR A Twd &
(3) ®u= [ F6l g, At &= 11 o &
(4) FE] TR AFT S ([ 9E

1[Option ID=6513]
2[Option ID=6514]
3[Option ID=6515]
4[Option ID=6516]

Sl. No.84
QBID:15248559

Given below are two statements :

Statement - I : In PLA only OR portions of the device are programmable.
Statements - IT : In PAL only AND portion of the device is programmable.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II 1s mcorrect.

(4) Statement - I 15 incorrect but Statement - II i1s correct.

:ﬁ%a“{aﬂﬁ%ﬁﬂq%’:

FY [ : 9 w8 €T (PLA) # 3f3d & Faa OR P £ Uigm g g1 2

FU= I1 : § T ua (PAL) # gfFa a1 AND HF ¥igH 37 & &

IUiad Y & HElE H, Fid f3u U Geed! § 9 98y 3ugad IR &1 994 S

(1) Sy AR I EH w81 &
(2) ®¥F 1 AR I &9 Tod &
(3) &= [ 98 &, afte &= [ 77od &




(4) wy= ] 7Tod &, e wy= [ 981 &

1[Option ID=6517]
2[Option ID=6518]
3[Option ID=6519]
4[Option ID=6520]

Sl. No.85
QBID:15248560

Given below are two statements :

Statement - I : In a soft real time embedded system. one or more failures to meet
the deadline are not considered as system failures.

Statements - IT : The size of data file is large in soft real time system.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - II is correct.

RS sy g M & .

HYA | : St dgw @gH SRty oF |, Sifan gg-d O% uged & oY 0 a1 99
HfiF AFad o 0 1 [haa T8l 7 o & |

FYA 11 ; Tite g e5d e # 511 B5d &1 S$R S5 5191 &

SUa YT & HaE H, A QU U @l § ¥ 999 S9gad 9o &1 99 ST

(1) T R 11 21 981 &
(2) Y1 3R 1 EH1 7ord &
(3) HYF [ WEl B dftea Su I1 7Tea
(4) &Y= [ 70 &, Qi sy 1T 981 &

1[Option ID=6525]
2[Option ID=6526]
3[Option ID=6527]
4[Option ID=6528]

Sl. No.86
QBID:15248561

Given below are two statements :

Statement - I : Platform based design of an embedded system considers batch
hardware and software requirements.

Statements - II : Platform based design of embedded systems is done in three

phases namely design the platform. develop the platform and use the platform.
In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I is correct but Statement - IT is mcorrect.

(4) Statement - I is incorrect but Statement - IT is correct.




4= <1 By f2d T B

FYF [ : AT 93 &1 SewH g AfiEe 89 sredny 3R Ity naugEarait
R 4R &Xar o

FYF [ - a-2ftg o9 &1 TewH anuf dfies 39 eomnsi § 9o S o g, O

HTRTT W & (5ug" &1, TewH & el &3 iR TewH &1 ¥ar &3, $

=9 H il &1
IqRad ®YF & HEE 8, Arg U e e § ¥ e 3uged 3uR & 994 ST

(1) Fu= I 3R 11 21 981 &
(2) Y1 3R 11 241 7ord &
(3) HY [ WEl B e S [ 7Tea
(4) &Y= [ 70 &, Qi sy 1T 981 &

1[Option ID=6529]
2[Option ID=6530]
3[Option ID=6531]
4[Option ID=6532]

Sl. No.87
QBID:15248562

Given below are two statements :

Statement - I : An ARM processor executes an instruction n one CPU cycle.
Statements - IT : An ARM processor has a less number of registers to reduce
complexity.

In the light of the above statements. choose the most approprate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II 1s mcorrect.

(4) Statement - I 15 incorrect but Statement - IT i1s correct.

H2 g1 wu= fed o E

FYA [ : U6 U AR 07 W9, U6 994G 9% H e FHefed &ar g

&Y [1 : U 3R UH U ® Sieaal & ~gHisw & g it Rivrey) &1 &8 dem gl 71
SUed ®YA F AAE |, 49 G U Aeal # ¥ 999 99ged 9T F1 994 S

(1) ®YA I AR I 2 w8 &
(2) ®uA 1 SR 11 21 7Tod &
(3) Hu= [ 98l & it By I1 T &
(4) FUF I 00 &, Afee = I 981 &

1[Option ID=6533]
2[Option ID=6534]
3[Option ID=6535]
4[Option ID=6536]

Sl. No.88
QBID:15248563




Given below are two statements :
Statement - I : Serial Communication systems are simplex or half duplex not full

duplex.
Statements - IT : Serial Communication systems are simplex. half duplex or full

duplex.
In the light of the above statements. choose the most appropriate answer from

the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.
(3) Statement - I is correct but Statement - II 1s incorrect.
(4) Statement - I is incorrect but Statement - II is correct.

?ﬁﬁa“{aﬂﬂﬁﬁrrq%’:
®U [ - @ ¥uR &7 ue ot (Ryeadam) o o ol @1 swien) €9 § 7 f oof fwed

(B0 S|
wYA [1 ; 49 HOR oF U o (Regcia), o fgudt @ sgwies) o qf fgwlt (pa

S[@)
SUad YA & A H, A [GU U [dFel § 9 999 S9gad 9o @ 99 S

(1) T 3R 11 21 981 &
(2) Y1 AR i Tod &
(3) BF[ TR AT s I T &
(4) FYF [ Tad &, dfed suE [ 981 &

1[Option ID=6537]
2[Option ID=6538]
3[Option ID=6539]
4[Option ID=6540]

Sl. No.89
QBID:15248564

Given below are two statements :

Statement - I : The Transmit Interrupt (TT) is generated when the transmission
of the byte written to SBUF register 1s completed.

Statements - IT : The Transmit Interrupt (TT) 18 generated when the transmission
of the byte written to SBUF register 1s mitiated.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I is correct but Statement - IT is mcorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

¥ G FyE A T E

FY | : 7€ U9 §1 g T (SBUF) U9 Rfoey) & fou fféa s5e &1 d9ru of 51 9 &,
T H=R SERiY (TT) S Bl &

&Y [1 : Wa U9 &t g U6 (SBUF) el @forey) & o faf@a amge &1 9o omy gian &,
T TR SERIY (TT) S Bl &

SUilad HYF & SGe H, 4 U M0 [Geedl H § Yoy Iuged 9T P 994 il




(1) v I 3R 11 21 981 &
(2) FYHI SR A a5
(3) wvH I WEl &, Tfde sy I1 7Tad &
(4) FE[TEEE AT A [ 9

1[Option ID=6541]
2[Option ID=6542]
3[Option ID=6543]
4[Option ID=6544]

Sl. No.90
QBID:15248565

Given below are two statements :

Statement - I : Real-Time Linux cannot be used for control i critical
applications.

Statements - IT : The rapid evolution of processor technology allows the
mtegration of a monolithic kernels like Linux m small and cheap processors.
In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are mcorrect.
(3) Statement - I is correct but Statement - II 1s incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.

4 €y fed o

&Y | : IG0-CIgH TIg-ad $1 YO Hilde (hich) Suar & o= & ¢ 981 &g o
&l g

FUF 1 - U F dig faerg & b ueifie, agaeg o8 2 g 9% Ui are ueieH
@IS S0 & Sued &1 Wiewdl veld #Xdl 5l

SUEd BYA F MAE |, 446U U Al # ¥ 999 99g9ad 9t ®1 99 S

(1) Sy R II 241 w8l &

(2) S AR EH Toa &

(3) FUA I TEl &, Qfce Hy= I1 7Tod &

(4) FEITOAE, AT A I S8 &

1[Option ID=6545]
2[Option ID=6546]
3[Option ID=6547]
4[Option ID=6548]

Sl. No.91
QBID:15248566




Given below are two statements :

Statement - I : A scheduling algorithm, consisting of a set of rules for ordering
the use of system resources, m particular the processors.

Statements - IT : An analytical means of analyzing the system and predicting its
worst-case behaviour with respect to timungs when that scheduling algorithm 1s
applied.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.
(3) Statement - I i1s correct but Statement - IT 1s mcorrect.
(4) Statement - I i1s incorrect but Statement - II is correct.

Hi 2 sy= g Mo &

wu | : Us Tosgfe venfyay, Bty vaed § fie duy=t & v &1 goefRE s &
férg Fomt & wa=m & affea s 2

FU 1 : U faweuunas a1y RRen &1 [Aweuw a1 & SR 596 o9 s9-fefdoy &1
aigAr, v asgfe Tenfes &1 sguan e e & 99 9raEty & dey & swar g
Iiad Y & HElE §, Fid f3u U Geed! § 9 98y 3ugad IR &1 994 S

(1) == [ 3R 11 241 =81 &
(2) FoA 1 SR 11 S 7o &
(3) &Y= [ el &, Witew ®u [] Toa &
(4) T TOa e, AT ST I 981 &

1[Option ID=6549]
2[Option ID=6550]
3[Option ID=6551]
4[Option ID=6552]

Sl. No.92
QBID:15248567

Given below are two statements :

Statement - I : In multithreading the program code is the same for all threads and
it 18 slower.

Statements - II : In multithreading, each thread has its own processor state and
therefore it is slower.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are mcorrect.

(3) Statement - I 1s correct but Statement - IT 1s mcorrect.

(4) Statement - I 15 incorrect but Statement - IT is correct.
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TG FYA & A 1, " B U Tl # 9 99d 9Ugad 9 & 994 i

(1) ®u I 3R 11 21 981 &

(2) ®¥A I AR 11 241 7o &

(3) v [ 981 & dfdes wu 1 7ad &

(4) FEITOA e, AT A I S8 &

1[Option ID=6553]
2[Option ID=6554]
3[Option ID=6555]
4[Option ID=6556]
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Given below are two statements :

Statement - I : Simpler microcontrollers and older microprocessors often were
mtegrated into a system using an ICE (In-Circuit Emulator).

Statements - IT : An ICE includes an interface that 1s interposed between a
processor and the system board. but can not monitor and control all mput and
output signals to and from the device.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - I are mcorrect.
(3) Statement - I is correct but Statement - II 1s incorrect.
(4) Statement - I is incorrect but Statement - IT is correct.
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YT I1 : UF 315 91 5 | U Sedthd TNHT 5ial & off WaeR SR Re 918 & 79 a6y
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TEdl &l

S0led BYA F HAE |, 44 SU T [AEl # ¥ 999 99g99d 9o F1 994 S

(1) ®YA I AR I 2 w8 &
(2) ®uA 1 SR 11 21 7Tod &
(3) Hu= [ 98l & it By I1 T &
(4) FUF I 00 &, Afee = I 981 &

1[Option ID=6557]
2[Option ID=6558]
3[Option ID=6559]
4[Option ID=6560]
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QBID:15248569
Match List - I with List - IT

List - I List - IT
A |8051 I 0K F.OM
B |8052 1 4K EPROM
IC [8031 11 MK ROM
D 8751 [V |SK ROM

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV, D-III
(2) A-IIL B-IV. C-I. D-II
(3) A-L B-IV. C-III, D-II
(4) A-IV. B-I. C-II. D-III

Tl - 1 1Y Gl - 11 BT A e

A -1 -1
A [sost i 0K IH
B 8032 I LR ZUH
lc Tsost m gk IF
D [8751 v |gRKIH

- fau 77T fawedl | 1 el SR @1 994 Difor:
(1) A-IL B-I. C-IV, D-III

(2) A-IIL B-IV. C-I. D-II

(3) A-L B-IV. C-III. D-II

(4) A-IV. B-I1. C-II. D-III

1[Option ID=6561]

2[Option ID=6562]

3[Option ID=6563]
4[Option ID=6564]
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Match List - T with List - IT

List -1 List - 11
A [DSCE9C420/30 1 [k
B [DSC89C440 I [16K
lc  IDscsoac4so m [sK
D  [DS5000 IV [64K

Choose the correct answer from the options given below :




(1) A-I. B-IV. C-II. D-III
(2) A-IL B-IIL. C-IV. D-I
(3) A-I B-IV. C-III. D-II
(4) A-II. B-I1. C-IV. D-III

Yl - 1 91y Y - 11 BT e fdhiore:

Tt -1 -1
A [DSC89C420/30 NES
B [DSC89C440 16K
lc Ipscsescaso M 8K
D [DS35000 v 64K

+d feu U fapedl § T el 3R &l 9g+ Hiforu:
(1) A-L B-IV, C-II. D-III

(2) A-II B-IIL C-IV. D-I

(3) A-L B-IV. C-III, D-II

(4) A-II B-1. C-IV, D-III

1[Option ID=6569]

2[Option ID=6570]

3[Option ID=6571]
4[Option ID=6572]
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Match List - I with List - IT

List-1 List - IT
A Flash I Coherency
B ROM 11 R epeatedly Refresh
IC DRAM 11 Read Only
D |Cache TV [n Situ re-programmed

Choose the correct answer from the options given below :
(1) A-L B-IV. C-IIL. D-II
(2) A-IV. B-III. C-II. D-I
(3) A-IIL B-II. C-1. D-IV
(4) A-II. B-I1. C-IV. D-III




i - 1 Q1Y Yl - 11 DI FHeAH fhiore:

1[Option ID=6573]
2[Option ID=6574]
3[Option ID=6575]
4[Option ID=6576]

-1 E -1
A I [ [dOoddr
B RH 1 |[§RaR b
lc |23 1 [bac Ua-ig
D [bu v o O = H AR
i fGu 7E fadedl & ¥ 9l 3R & 944 Sifol:

(1) A-L B-IV, C-III, D-II
(2) A-IV, B-IIL, C-II, D-I
(3) A-IIL B-IL C-1. D-IV
(4) A-II B-I. C-IV, D-III

Sl. No.97
QBID:15248572

Match List - T with List - IT

List -1 List - 1T
A lcANBUS [ S}fnchronpus_ﬁerlal
Communication
5 e I As}'nchm.naqs Serial
Communication
IC [RS232 11 Serial Communication
D IUSB TV Short-Distance Comtnunication

Choose the correct answer from the options given below :
(1) A-IIL B-IV. C-II. D-I
(2) A-L B-II. C-III. D-IV
(3) A-IV. B-I. C-III, D-II
(4) A-IV. B-1. C-II. D-III

i - 1 Q1Y Yl - 11 DI FHeAH fhiore:

-1

- 11

A [CANBUS I [qegoiad $aa §ar
B [12C I |3fJcdorlicd §8al TR
Ic  [RS232 I [3Edl 99R

D  [USB IV [eTY-3{cRIe dR

i fdu 7T famedl & 9 o1 IR 1 904 BifoiE:




(1) A-IIL B-IV. C-II. D-I
(2) A-L B-II. C-III. D-IV
(3) A-IV. B-I. C-III. D-II
(4) A-IV. B-1. C-II. D-III
1[Option ID=6577]
2[Option ID=6578]

3[Option ID=6579]
4[Option ID=6580]

Sl. No.98
QBID:15248573

Match List - I with List - IT

List-I List - IT
A |SPARC [ |CISC
B |Zilog Z80 [I [Harvard architecture
IC [ENIAC [II [RISC
D [PIC [V |Princeton Architecture

Choose the correct answer from the options given below :
(1) A-I B-IV. C-II. D-III
(2) A-IL B-I. C-II. D-IV
(3) A-IIL B-I. C-IV, D-II
(4) A-L B-IV. C-III. D-II

Yl - 1 91y Y - 11 BT e fdhiore:

-1 - 11
A [T (SPARC) I [iemsugd
B [T 91880 (Zilog Z&0) 1 [glds ™
lc RRII$ ENAC) M (3R 35 0 9
D  [U® PIC) v [Hged ®hd

+d feu U fapedl § T el 3R &l 9g+ Hiforu:
(1) A-L B-IV, C-II. D-III

(2) A-IIL B-IL. C-1I. D-IV

(3) A-IIL B-I. C-IV, D-II

(4) A-L B-IV. C-III, D-II

1[Option ID=6581]

2[Option ID=6582]

3[Option ID=6583]
4[Option ID=6584]
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Match List - I with List - II

List-1 List - IT
A [PAL Il Fixed AND array and programmable OR array
B [PLA 1T [Uses EEPROM
IC [PROM [IT |Programmable AND arrav and fixed OR array
D 1GAL [V [Programmable AND and OF. array

Choose the correct answer from the options given below :
(1) A-IIL B-IV. C-I. D-II
(2) A-IV. B-I. C-III, D-II
(3) A-L B-II. C-III. D-IV
(4) A-IV. B-IL. C-III. D-I

Yl - 1 1Y Y - 11 BT e fdhfoe:

5%l - 11

pAL (fTTenfl  [Rd AND TRUft 3R T 9 oR GRuft
B [PLA W UE I [S3UH (EEPROM) UIITH Fdl &
IC  |prOM (@E) [III MR TFg AND 907 3R 9d OR GOl
p [CALGIT o [T T AND HR OR TRuft

¥
194U ¢ fdeedl § 9 9e1 3Tk &1 98- Sifolg:

(1) A-IIL B-IV. C-I. D-II
(2) A-IV. B-I. C-III. D-II
(3) A-L B-II. C-III. D-IV
(4) A-IV. B-IL C-III. D-I

1[Option ID=6585]
2[Option ID=6586]
3[Option ID=6587]
4[Option ID=6588]

Sl. No.100
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Match List - I with List - II

List - I List - I1
A |CMP [ [Bit wise test
B |CMN [ |Compare
IC |ITST [II [Bit wise negated test
D [TEQ [V [Negated Compare

Choose the correct answer from the options given below :
(1) A-L B-IV. C-II. D-III
(2) A-II. B-IV. C-1. D-III
(3) A-II. B-I. C-IV. D-III
(4) A-IL B-II. C-III. D-IV

Yl - 1 A1y Y - 11 BT e i

-1 -1I
A |-::§?';ﬁ I IIEEEIET?‘E?E
B [cMN 1 |[pEg
lc |rsT [ gy Fids o
D [TEQ IV [Fes W
= feu U fapedl § T Uel 3R &l 90+ Hifolg:

(1) A-L B-IV. C-II. D-III
(2) A-II. B-IV. C-I. D-III
(3) A-IL B-IL C-IV, D-III
(4) A-L B-II. C-III. D-IV
1[Option ID=6589]
2[Option ID=6590]

3[Option ID=6591]
4[Option ID=6592]




